The full name of ESI—

(A) Employee’s State Insurance Scheme
(B) Employee’s Scheme of India

(C) Employment Scheme of India

(D) None of these

Lewis Hamilton from ............. has won
Belgiam Grand Prix 2015 ?

(A) Serbia (B) Germany

(C) England (D) France

Who won the second version of Star Sports
Pro Kabaddi by defeating Bengaluru Bulls ?
(A) U Mumba (B) Patna Pirates
(C) Dabang Delhi (D) None of these

National Teachers awards money has been
enhanced to ........ from Rs. 25000 currently ?
(A) 500000 (B) ¥ 50000

(C) T 150000 (D) ¥ 100000

The constituency of Prime Minister Narendra
Modi—

(A) Ahmedabad
(C) Varanasi

(B) Gandhinagar
(D) Jamnagar

The second forum for India Pacific Island
cooperation summit was held in ............
(A) Jaipur (B) Rajkot

(C) Dehradun (D) New Delhi

Choose correct statements—

(A) The Union Government launched Vidya
Lakshmi

(B) It is a Web Portal

(C) Both A & B are correct

(D) None of these

Which of the following is related to
educational loans—

(A) Web Portal Ram

(B) Web Portal Dhan Laxmi

(C) Web Portal Guru

(D) Web Portal Vidya Laxmi
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Sri Liladhar Jaguri is a—
(A) Bridge Builder (B) Poet
(C) Historian (D) Astrologer

Almora coins belongs to—
(A) Kuninda Dynasty (B) Paurava Dynasty
(C) Verman Dynasty (D) Katyuri Dynasty

The Indian Film Festival of Melbourne
(IFFM) 2015 ended with theme of “......... f
(A) Peace (B) Culture

(C) Aand Bboth (D) Equality

Rajeev Mangla is appointed as Chief
Technology Officer (CTO) of ........... A

(A) Flipkart (B) Snapdeal

(C) Amazon (D) None of these

Catechu factory in Uttarakhand is located at—

(A) Kalsi (B) Barkot

(C) Garud (D) None of these
Who was the founder of ‘Panwar Dynasty’
in ‘Garhwal Raj’—

(A) Ajai Pal (B) Kanak Pal

(C) Bhaun Pal (D) None of these

HAL has successfully carried out the hot and
high altitude trails of the Light Combat
Helicopter (LCH), at ............ .

(A) Kanpur (B) Lucknow
(C) Leh (D) Shimla
CSIRO stands for—

(A) Common Wealth Scientific and
Industrial Research Organisation

(B) Common Scientific and Industrial
Research Organisation

(C) Commercial Scientific and Industrial
Research Organisation

(D) None of these
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For the first time in ............ ’s history, a
university has awarded an M. Phil degree in
Hindi—

(A) Russia (B) Pakistan

(C) China (D) None of these
‘Fateh Prakash’ is written by—

(A) Kavi Ratan (B) Bhushan

(C) Mati Ram (D) None of these

The abbreviation bps stands for—
(A) Bytes per second

(B) Bandwidth per second

(C) Bits per second

(D) None of these

The main electronic components used in
fourth generation computers were—

(A) Integrated circuits

(B) VLSI

(C) Vacuum tubes

(D) None of these

Digital signature is a—

(A) Scanned signature

(B) Signature in binary form
(C) Encrypting information
(D) None of these

Google is a—
(A) LAN navigator - (B) Hardware Part
(C) BothA & B (D) Search Engine

Union Telecom Minister Ravi Shankar Prasad
released a commemortive postal stamp on

EMPETOT ..vvveesaenes .
(A) Ashok (B) Chandragupta
(C) Akbar (D) None of these
India has won the top .............. ‘Award of
Excellence’ 2015.

(A) Japan Prize (B) SAARC Prize
(C) UNESCO Prize (D) None of these
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25. < The vice Chairman of NITI Aayog ?
(A) NarendraModi (B) Arun Jetly
(C) Arvind Mayaram (D) Arvind Panagariya

26. The fair organised at confluence of river kali
and Gauri is known as—
(A) Uttarayani fair (B) Chaiti fair
(C) Jauljivi fair (D) Jhanda fair

27. Aadibadri, Mana and Vishnu Prayag is
sitmtediat ........... J85 l
(A) Pithoragarh
(C) Rudraprayag

(B) Chamoli
(D) Uttarkashi

28. Bhagwanpur, Khanpur and Laksar is located
at which district—
(A) Dehradun
(B) Udham Singh Nagar
(C) Pauri
(D) Haridwar

29. Government announced seven pronged plan
called .iaw...ia mission for revival of public
sector banks.

(A) Indradhanush
(C) Nav Kiran

(B) Samagam
(D) Punarnirman

M. e became longest-reigning monarch
of the United Kingdom.
(A) Queen Elizabeth I
(B) Queen Elizabeth II
(C) Queen Elizabeth I1I
(D) None of these

31. ‘Wadia Institute’ at Dehradun is working on—
(A) Water conservation
(B) Geological studies
(C) Forest studies
(D) None of these

32. Swami Ram is the founder of—
(A) Himalayan Institute Hospital Trust
(B) Doon School
(C) Shanti Kunj
(D) Brightland School
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Who was last Maharaja of Tehri - state ?
(A) Kirti Shah

(B) Narendra Shah

(C) Manvendra Shah

(D) None of these

Which state assembly passed Public
Grievances Redressal Bill, 2015 for speedy
redressal of—

(A) Uttar Pradesh  (B) Uttarakhand
(C) Delhi (D) Bihar
Sri Lankan cricketer .......... retired from

International Cricket during ongoing test
series against India—

(A) Muralidharan

(B) Marvan Atapattu

(C) Kumar Sangakkara

(D) None of these

Which state government will open call
centres increase efficiency of claim settlement
process for unorganised workers ?

(A) Uttar Pradesh

(B) Andhra Pradesh

(C) Rajasthan

(D) Madhya Pradesh

Operation ......... launched as an initiative by
railway police to trace missing and dostitude
children and reunite them with parents.

(A) Muskan (B) Khoj

(C) Sahaj (D) Rahat

The ‘Praja Mandal Movement’ was
associated with—

(A) Pauri Garhwal

(B) Chamoli

(C) Tehri Garhwal

(D) None of these
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If A and B are two given sets, then

AN (AnB)‘isequal to:

(A) A (B) B

© ¢ (D) AnB°

The value of /(logg; 4) is:

(A) =2 (B) 2

(©) ,/(—4) (D) None of these

(2x+3) a | L

B ix-3) x+1 QP nnatbr...
9

(A1 ®) 3

© 2 (D) None of these

Ifx+ ((x+1) =a thenx=.........

@3] @ 3(3)

(€) a+5") (D) None of these
89
Zlog3(tan o
r=I
(A)3 B) 1
(C 2 (D) 0
The value of (1 +1i)° x (1 —i) ..........
(A) -8 (B) 8i
©) 8 (D) 32
The radius of the circle EI =S5isgivenby:
z+i
o B3 s
(A) 12 L, 12
©) 5 (D) 625
fat : (a—c)®
Ifa, b, c are in A.P.,, then (b2 —80) =
A1 B) 2
)3 (D) 4
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The sum of 100 terms of series :
9+ .09+.009+........ will be

1 ™ 1106
(A) 1- (ﬁ) (B) L+ (E)

1)
©) 1- [E) (D) None of these
If the roots of 4x? + px + 9 = 0 are equal then

absolute value of pis :
(A) 144 (B) 12

© -Vi2 O) £J122

Which relation is wrong :

(A) 1 calorie =4.18 Joule
B)1A=10"m

(©) 1 MeV =1.6 x 103 Joule
(D) 1 Newton = 10~° dyne

Dimensional formula of heat energy is :
(A) ML*T*? (B) MLT"!
(C) MIL'T? (D) None of these

A body is revolving with a uniform speed v
in a circle of radius r. The tangential

acceleration is—
2

v
B) 4e)
(D) None of these

=
4) 7
(C) Zero

Two bodies of masses m, and m, have equal
kinetic energies. If p, and p, are their
respective momentum, then ratio of p, : p, is
equal to :

(A)m, :m, (B) m,:m,
©) Jm; :ymy - (O) m]:m]

Tension in given string is given by :

1
@ =l

I
® T-me| ]
(C) T=mgl
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(D) None of these
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If ?P_= 1320, then value of ris :
(A)S (B) 4
O3 (D) None of these

If ® be a complex cube root of unity, then :

1 © -2
2

1 |=

1 -1 0

A1 B) 0

O o (D) None of these
3(sin x —cos x)* + 6(sin x + cos x)* + 4(sin® x
+ cos® x) =

(A) 13 (B) 17

(C) 14 (D) None of these
The value of :

sin? 5° + sin? 10° + sin? 15° +.... + sin? 85°
+ sin? 90°

(A) 2 (B) 8

(C) 3 (D) None of these

In AABC, if 3a = b + ¢, then the value of :

cotE cotE
C ¥

A1 B) 2
© 3 (D) None of these
Correct form of gravitational law is :
; 2

(&) F=- Smms

r

= Gm’m?

®) F=——5—2

r

2

© F=__Gm;m2 :

r
(D) None of these
Weight of a body is maximum at :
(A) Moon

(B) Poles of earth
(C) Equator of earth

(D) Centre of earth
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73.

74.

75.

76.
Ths
1pF 1 pF
1 puF
A B
78.

79.

Young’s modulus (Y) is given by :

'l Mgl ?
B Y 01 < B Ty =3
MgL
() ¥=—= (D) None of these
nrl
Ce
The ratio of two specific heats = ~ of COis :
v
(A) 1.33 (B) 1.40
(©) 1.29 (D) 1.66

The spectrum from a black body radiation is
a:

(A) Continuous spectrum

(B) Line spectrum

(C) Band spectrum

(D) None of these

If a simple pendulum is taken to place where
g decreases by 2%, then the time period :
(A) Decrease by 1% (B) Decrease by 2%
(C) Increase by 2% (D) Increase by 1%

The equivalent capacitance between A and
Bis:

1pF 1 pF
(A) .3 puF (B) 0.5 pF
(C) 2 yF (D) None of these
The Van’t Hoff factor of compound
K,Fe(CN), is :
A1 B) 2
©)3 (D) 4
The metal that crystallises in simple cubic
system is :
(A) Ag (B) Na
(C) Po (D) None of these

X

74.

75.

76.

Al

SET-A

I AMETI(Y) = e
_ml _ Mgl?
&) Y=~ ®) Y=—>
Mgl 1
©Y=—3% D) T ¥ F T

C
CO @ for 2 faftre womwlt = aqaqmé%:

(A) 1.33 (B) 1.40
(C) 1.29 (D) 1.66
=% el edvm | wra Heen B ¢
(A) T T
(B) @A
(C) dve
(D) 79 ¥ #E T
I TH YRV ST @ W YA WV @ Sl
? Wl g WA 2% %W ¢ & edere B
(A) 1% F9 8m  (B) 2% FH W
(C) 2% =@ (D) 1% =@
A 3R B & weg uftomdt enfiar =it

1 uF I uF

Bt .. e

78.

1 uF 1 uF
(A) .3 uF (B) 0.5 uF
(C) 2 pF (D) ¥ @ = &
K,Fe(CN), Aifith &1 a1z &fe wew 2
(A) 1 (B) 2
© 3 (D) 4
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What is kinetic energy of 1 gof O, at 47°C:
(A) 2.24 x 10*] (B) 1.24 x10?]
(C) 1.24 x 10°] (D) None of these

Let R be the resultant of P and Q and if

E: 7 e thenﬂleanglebetweenPandes
. )
O @) cos”'| 3
n
© 3 (D) None of these

If the resultant of two forces is of magnitude
P and equal to one of them and perpendicular
to it. Then the other forces is :

(A) Pf3 B) P
1P (D) None of these
The S.D. of first n natural numbers is :
n(n +1)
(A) (B)
+l
© T (D) None of these
If p is the mean of distribution (yi, fi), then
Xfi(yi—p) =.......
(A) M.D. (B) S.D.

(C) Relative frequency (D) 0

Two dice are thrown simultaneously the
probability that sum is odd or less than 7 or
both is :

2 1
@ 3 ® 5

3
© 7 (D) None of these
The catalyst used in the manufacture of
methanol from water gas is—

(A) V,0, (B) Ni+ Mo
(€) ZnO +Cr,0, (D) None of these
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80.

81.

82.

84.

85.

86.

SET-A
47°CR O, & 1 TF Fi T Sl F=1 Bl
(A)224x102J _ (B) 1.24x10?J

(C) 124 x10°J (D) ¥ ¥ =I3 &
AT P @ Q 1 gftorst R ® qenm 4%
P Q_R .
i ,TAPAAMR & HEA HITT B
2n 11
(A) 5 Skl (14)
© = (D) ¥ @ FE T
I <) ael & GRomH w1 9RH PR U S

gwﬁmawmm%a‘:ww

(A) P3 (B) P
©Pry2 (D) 79 ¥ =5 T
WoH n Wi WIS 1 " foree (S.D.) B

n(n+1) n’ -1
A) ®)

45

©) T (D) 39 ¥ &g &
afg A (vi, fi) 1 A p R, T
Zfiyi—p)=.......
(A) wrem fagem (B) 9& fa=er
(C) 3mifeyw SRR (D) 0
T FHYfea Wl i TE € WY I S

B Ww FH w1 A faww swer 7 ¥ wH
s1eel <1 €1 §, SHe! e ?

2 1
(A)g (B)E

3 . )
© 3 (D) T4 | B 7
“Sa-Te" ¥ AT R ¥ S R
WA A ST o—

(A) V,0,
(C) ZnO + Cr,0,

(B) Ni+Mo
(D) ¥ & FI &

XLIIX



87.

88.

89.

90.

91.

92.

93.

9%94.

Calculate InK in the following reaction :
2Ag +CH,_0,+HO— 2Ag(s)+CH, 0, +2H-
(A) 66.13 (B) 58.38
(©) 79

(D) None of these
The oxidation number of hydrogen in LiH is :

(A) +1 (B) -1

(©)2 (D) None of these
Value of x in Potash alum :
K,S0O,.Alx(80,),24H,0O is :

A4 B) 1

© 2 (D) None of these

Which of the following pair of orbits posses
two nodal planes :

(A) dxy, d_ (B) P, dxz_yz

© p,d, (D) None of these
Co-ordinate bond is absent in :

(A) BHj3 (B) CO,?

(C) H,0* (D) NH?

What bond order does 022‘ have :

(A3 (B) 2
© % (D) None of these
a b 2
If |]a| = a and |b| = b, then [a_z—.l?) -
a+bY’ (a-b)’
o)
2
©) [(a : b)] (D) Nore of these
ab
axb)? +(@.b)’
The value of (@x ;5: E-E;l ) is:
: 1
) 3 ®) 5
© % (D) None of these
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SET-A

2Ag +CH,,0,+H,0—2Ag(s)+CH,0,+2H
B &1 InK 31 &

(A) 66.13 (B) 58.38

© 79 (D) H ¥ =g T
LiHH TESSH 31 ST e ¢

(A) +1 (B) -1

©) 2 (D) 79 § = T

Hiere e K,SO,.Alx(SO,),24H,0 9 x W
I ?:

(A) 4 (B) 1

© 2 (D) ¥ & i e

e d @ wel & S 9 gH B QAR
aa%ﬁ%

&) d,.d, (B) p,da
©) p,,d, D) T ¥ %K
IqTEEASTE S ST B ¥
(A) BH? (B) €O,
(C) H,0* (D) NH?
O & o4 FH §
(A)3 (B) 2
© 3 D) T & FE 7@
a bY
4% |a| = a 3 b| = b, T (a_l_b—z) -
a+bY (a-b)’
&) ( ab ) (®) ab
2
© [_(a;,;b)] (D) T B FE 7
(@xb)?+(@E.b) _
e L :
3 EX.
*) 3 ®) 5
©) % (D) T | &5 Tl
XLIIX



95.

96.

7.

98.

99.

100.

X z o
The plane L AR 1 cuts the axis in

2 3 4
A, B, C then the area of the AABC is :
(A) Vo1 (B) V29
©) Ja1 (D) None of these

x+y+z+2=0, together withx+y+z+3=0
represents in space :

(A) Aline (B) A point
(C) A plane (D) None of these
lim sin® y-sin®x
If f(x) = R - ]
y=>X  y-X
[af(x)dx =2

(A) cos2x+C
(C)2cos2x+C

(B) 2cos2x+C
(D) None of these

iexsinx =

dx

(A) e**"* (x cos X + sin x)
(B) e**"* (cos X + X sin Xx)

(C) ex sin x
(D) None of these

(g Jo-
(A) -%ez" cot2x+C
(B) —2¢™ cot2x+C
(©) %ez" cot2x+C
(D) None of these

J'x x dx _
0 a?cos? x+b?sin?x
T 4
@ ®) 2
2 2
n 7
C) — .
©) - (D) T
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9s.

96.

¥7.

98.

99,

100.

SET-A

aﬁm§+%+§=la&ﬁaﬁ,&,3,cm

FeA €, 7@ AABC &1 89%d ¢

(A) J61 B) 29
©) Ja1 (D) v & ¢

X+y+z+2=0,9Mx+y+z+3=0TF WY
wefsfa & %: :

(A) T T B) @ g

(C) ™ |aad (D) T & wr§ ¥
li f 2 a2

afg f(x) = g S AT Smx, LE|
y—X y—X

[4£(x) dx =2

(A) cos2x+C (B) 2cos2x+C

(C)2cos2x+C (D) ¥4 9 &g T

d xsinx

—_ =

dx

(A) e*s"* (x cos X + sin x)
(B) exsinx (cos X + x sin x)
(C) exsinx

(D) T ¥ 1§ T

o (e Jox-
(A) —%ez" cot2x +C
(B) —2¢™ cot2x+C
(©) %ez"cot2x+C
(D) ¥ ¥ # T

x dx

.“o’t =

a?cos® x +b?sin? x

n n
A) & (B) .
Tﬁ2 7';2
©) P (D) 5=
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